General Aptitude

Max. Marks : 50

Time : 40 min

Instruction :

i)  Solve the questions 1-5 in separate sheet.

ii) Answer the questions without choice at the back of answer sheet.

iii)Q.1.

----- 5marks

    Q.2-Q.5
----- 2marks

    Q.6-Q.42
----- 1 mark

1)
A lane has five houses in a row, each of a different colour, occupied by Alfa, Bravo, Charlie, Delta and Echo (not in order). Amongst these is  a Budhist, a Christian, a Hindu, a Jew, and a Muslim. Each of these gentlemen has a hobby and owns a pet. Only one amongst the five is a non-smoker.

A. Charlie is a pipe smoker whereas Bravo, who lives in the blue house loves his bidis.

B. The Budhist is fond of photography and the Muslim keen on angling.

C. The Jew lives in the house on the extreme right.

D. The cat owner and the horse owner are the farthest apart.

E. The farthest from the blue house is the white.

F. The Muslim has the Budhist and the Hindu as his neighbours.

G. The red house is on the extreme left.

H. Echo being a non-smoker particularly hates the stink of bidis that his neighbour smokes.

I. Delta loves his dog and is fond of shikar.

J. The cigar smoker likes yatching

K. Alfa, who lives in the green house, does not have good relations with Charlie and Echo but luckily for him neither of them is his immediate neighbour.

L. The one who is fond of magic tricks owns a horse.

M. The parrot owner is not the cigarette smoker’s neighbour.

Who owns the love-birds?
2)
In an isolated island there live two tribes; SACHAS and JHUTAS. The Sachas always speak the truth, whereas the Jhutas never do.

      
One day, SUNIL a stranger in the island, met four tribesmen. He asked one of them whether the second was a Sacha or a Jhuta. The reply was ‘Jhuta’. Similarly the second tribesman said that the third was a Jhuta, and the third said the same about the fourth. When he asked the Fourth as to what would the first tribesman have said about the third, the reply once again was ‘Jhuta’.

  
Who’s Who?

3) 
Late one night BOOKWORM was studying for his examinations when the lights went out. He lighted two candles of equal length, one thicker than the other. The thick candle is supposed to last six hours and the thin two hours less. When he finally went to sleep the thick candle was twice as long as the thin one

For how long did he study by the candlelight?

4)
If the  day after tomorrow was yesterday, Sunday would be what today was if the day before yesterday was the day after tomorrow.

What day is it today?

5)
On return from a business trip Nawab MOHABBAT ALI AASHIQ was to be picked up from the railway station by his coachman. Somehow he managed a train connection earlier  and thus arrived two hours earlier too early. Immediately on the arrival he rang up home for the coach and was told that it had left in order to be exactly in time for the train by which he was scheduled to come. To save time he started walking homeward at 3 mph. On the way he met the coachman who brought him home an hour before schedule.


How far is Mohabbat Ali Aashiq’s house from the railway station?

6) Find the day of the week on 16th July, 1776?

7) Two pipes A and B fill a tank in 15hours and 20 hours respectively while a third pipe            C can empty the full tank in 25 hours. All the three pipes are opened in the beginning. After 10 hours, C is closed. In how much time, will the tank be full?

a) 12 hours

b) 13 hours 

c) 16 hours 

d) 18 hours

8) A man can row 9 1/3 kmph in still water and finds that it takes him thrice as much time to row up than as to row down the same distance in the river. The speed of the current is:

a) 3 1/3 kmph

b) 3 1/9 hours

c) 4 2/3 hours

d) 14 kmph

9) A watch gains uniformly is 2 minutes slow at noon  on Monday and is 4 min. 48 sec fast at 2p.m. on the following  Monday. When was it correct?

a) 2 p.m on Tuesday 


b) 2 p.m on Wednesday 


c) 3 p.m  on Thursday 

d) 1p.m on Friday

10)A, B and C can do apiece a work in 36, 54 and 72 days respectively. They started the                                                        work but A left 8 days before the completion of the work while B left 12 days before the completion. The number days for which C worked is:

a) 4

b) 8

c) 12

d) 24

11) Even after reducing the market price of a transistor by Rs.32, a shopkeeper makes a profit of 15%. If the cost price be Rs 320,what percentage of profit would he have made if he had sold the transistor at the marked price?

a) 10%

b) 20%

c) 25%

d) none of these

12) The price of an article was increased by p%. Later the new price was decreased by p%. If the latest price was Re.1, the original price was

a) Re 1

b) Rs (1-p2 )/100
c) Rs (10000/10000-p2) 
d) Rs ((1-p2)/100

13) A train running at  54kmph takes 20seconds to pass a platform. Next it takes 12 seconds to pass a man walking at 6kmph in the same  direction in which the train is going. Find the length of the train and the length of the platform.

14) In the question below each letter represent a  digit. Find out the value of A,B,C and D


A B C D  *
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-----------


D C B A 


-----------

15) Vijay is given 49 cigars. He can make a full cigar from 7 stubs. How many cigars can he smoke?

a) 50

b) 56

c) 57

d) 49

16) The speed of a boat in still water is 15 kmph. The rate of the stream is 3 kmph. The distance traveled downstream in 12 minutes is

a) 3.6 km
b) 2.4 km
c) 7.2 km
d) 4.8 km

17) You have the misfortune to own an unreliable clock. This one loses exactly 20 minutes every hour. It is now showing 4:00 am and you that it was correct at midnight, when you see it. The clock stopped 4 hours ago, what is the correct time now?

a) 7 A.M
b) 9 A.M
c) 8 A.M
d) 10 A.M

18) What comes next in this sequence:

2, 3, 5, 7, 11, 31, 71, 91,

a) 111

b) 93

c) 32

d) 64

19) There are 4 pairs of red gloves, 5 pairs of black gloves and 6 pairs of white gloves in a dark room. How many gloves would you take to ensure a pair?

20) Supposing the roots of a quadratic equation are:

8/5 and  –7/3

What is the absolute value of the coefficient of the x term, if the equation is written in standard form 

(ax2  +  bx  + c =0), and a=1

21)There are 150 members in my club. We decided to have a ping pong tournament. All the members came forward to play in the game. Every time a member loses a game he is out of the tournament .


There are no ties.


Can you tell how many games must be played in order to determine the champion?

22) Meena went out for shopping. She had in her handbag approximately Rs 15/- in one rupee notes and 20p coins. When she returned she had as many one rupee notes as she originally had and as many 20p coins as she originally had one rupee notes. She actually came back with about one-third of what she had started out with.


How much did she spend and exactly how much did she have with her when she started out?

23)How many signals can be made by hoisting 5 flags of different colours one above the other when any number of them may be hoisted at a time?

a) 5

b) 240

c) 326

d) 325

24) FORENSIC : DEBATE

a) Empirical : argument

b) judicious : law

c) histrionic : theatre

d) sophomoric : humor

25) FERAL : DOMESTICATION 

a) arable :cultivation

b) viral : infection

c) crude : refinement

d) frugal : economy

26) ERUDITE : SCHOLAR

a) remote : cultivation

b) pliant : beggar

c) meandering : traveler

d) mendacious : liar

27) BARGE : VESSEL

b) cargo : hold

c) brake : automobile

d) shovel : implement

e) squadron : plane

28) GRISLY : RECOIL

a) sudden : rebound

b) tainted : purify

c) flagging : invigorate

d) heartrending : weep

29) BC CE EG GK ?

a)KN   b)KU  c)KM  d)None

30) ACD EGL IKT MOB?

a)QST  b)QSZ  c)QSY  d)None

Find the values for the following problem:
f(X)= 2X-1 + f(X-1) if X is not equal to zeroandiff(X=0)=0

31) Value of f(5)

a)15 
b)24 
c)22 
d)None

32) If f(f(X))=81 then the value of X=?

For the following find no of distinct words that can be formed.

33) TYGHHTT

a).420 
b)1540 
c)840 
d)None

34) TYGHASD

a) 720

b) 2520
c) 5040
d) 1440

Find the number of possible palindromes for following
35) TYHHAHTYH

a) 3
b) 6
c) 12
d)  24   

36) TYXXHTYH

a) 6
b) 12
c) 24
d) 48
For following first find out the anagram and then note the corresponding meaning.

37) TABLET

a)resentment 
b)fight 
c)help 
d)monster

38)RUGGED

a)resentment 
b)fight 
c)help 
d)monster

39.GORE

a)resentment 
b)fight 
c)help 
d)monster

40.STASSI.

a)resentment 
b)fight 
c)help 
d)monster

